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'BU_SINES_S MATHEMATICS
AND STATISTICS
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the 1ﬁargiu indicate Sfull marks
for the questions.

Q. No. 1 : - 1 mark each 1x8 = 8
Q No. 2 ' : . 2 marks each : 5 2x5 = 10
Q. Nos. 3~-7 - 3 marks each | 3x5 = 15
Q. Nos. 8-14 - 5 .marks each 5x7 = 35
Q. Nos. 15-18 , - 8 marks each ' . 8x4 = 32

Total =100
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1. AI‘ISV;IC_I' the following questidns as directed : : 1x8=8

Toid RO WO S Bed a8
(@) Is the set A={x|x<x} a null set ?

A'='{x|x<x} 93 TZes Ko WS W ?

w1t [°* °|20, find
=0, find x
2 4
5% 10
o 4‘:0,ﬁ¢ﬁffﬁ1x|

(c) What is the difference between permutation and combination ?

R S (SR Ak e

(d) The marks scored by 7 students are —
7 T YA-RAR TIPTR T — -
40, 42, 38, 45, 50, 52, 55
Find Median.
Tt Rl | |

(e) Write True or False :
wm (T o g
AM. <GM. <HM. | |
AR N < STASR MY < /WIS NG|

(f)/)’ What is the S.D. of two values 8 and 4 ?
8 W% 4 § WT Roow & e

(g9 What do you mean by combination ?
 Reer I & gme
(h) Fill in the blank :
<=1 2% o =4 ¢

AN(BUC)=(ANB) _____

(AnC) |
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2. Answer the following'questions in brief : 2x5=10
TR PRDIY B Bl faa ¢
(@) Distinguish between {0}, ¢ and {¢}.
| {0}, ¢ TR {4}-3 Ay RoR =11
(b) Find ‘n, if *"Cy: "C, =44:3.
n R v, T 2°C,: "C, = 4413

(c) In what time will Rs.2100 amount to Rs.2835 at 10% p.a. S.I.?
A TS IR 10% e Jo0 2100 T | 2835 Tt 22

(d) Using the property of determinant, prove that

0 35
-3 0 2(=0.

-3 -2 0

| Refims w’aﬁﬂaﬁmqwm

0 3 5
-3 0 2|=0]

3 —~Z 0

(e} Mention two advantages and two disadvantages of A.M:
Wmmﬁaﬁmm mwﬁmvmajw; ‘

3. The difference in simple interest on Rs.1450 at 5% p.a. and on
Rs.1250 at the same rate for the same time is Rs.135. F1nd the

time. : 3
TR 5% IS YA Rs. 1450 Bl TR TS O I S TRA Rs. 1250 3

5ol oq A9 Rs.135 | @ Fefa =4 |

-~

4. Find ‘n’ and ‘r’, if —
n W '3 W e w1, am —

"p -1680, "C,=70- - .
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5. If (@W) ‘
U={23,5,7,11,13},
A;{s, 7,13},
B‘={é,7,11,13},
show that (<A @) \ ' )

(AUB)® = A°N B° - | - 3
6. If (IW)-

"7 6 -3]
A
= BJ’

B =

[8 0 —5}
6 -1 .2
find (ﬁ‘fﬂaﬁl’)“

5A-3B=? | o | 3
| ' OR | 24

Find ‘¢’ and ‘’, if
X’ W% Yy’ I I Shed, IH

4] [-11 [18 | , | .
x + _ .
2" 2" |8 - > .
7. Calculate mean deviation from mean from the-given data : ©° .3

TWEWWWWW%W%@W°
6,9, 12, 15, 18

8. A man deposits Rs.1200 in a bank at the end of each year @ 5%
p.a. C.I. What would be his deposit after 15 years 7, S
(Given (1 05)15 =2-0789) . ‘

T T B (S SO T (< ﬁ‘iﬁ 5% e oS 1200 T ol
I 15 IFW ALS (983 Tl 41 RewiA 292 (Teat =meg (1- ‘05)15 = 2:0789)
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9. A certain sum of money at a certain rate compounded annually
amount to Rs.8820 in 2 years and Rs.9261 in 3 years. Find the
rate of interest and the p11nc1pal 5

I T @S e =f{ vagfa 7o 2 quge 8820321?:@1@ 3 TS 9261
A 09! | 709 TR W e el 3= :

10. Draw the graph of : (any one) - ' : 5
@1 S I ¢ (i aby)
3x+y-12<0
(i) 3y-2x<6
X+Yy>95

x+2y>4
y<4

. 9 .
11. In the expansion (xz "%J , the term free from x is 5376. Find the
value of ‘a’. o , , - 5

. S
[xz_i{) ﬁ@a@,xﬂwmfassmwa’famﬁcﬁawl

X

12. Ina meeting, after everyone had shaken hands with everyone else,
it was found that 105 handshakes were exchanged. How many
_persons were present at the meeting ? 5

Q2 IS, ASHRE, AT F91S T T 1ms (7l o1’ czf‘;{b 10531?@11&:1‘
R TSIITS o W R wfeEre
OR [ g2qr

A box contains 6 Whlte 4 red and 7 green balls. In how many ways
can you draw — % : 5
(i) 4 white and 3 red :

(ii) . 3 balls of the same colour ?

<51 TS 6 I 20, ma@rmmcﬂ%ﬁmwmlﬁwaﬂwﬁw—ﬁamﬁa-
() 4 B 951 == 3 B F¢l |
(i) 3 B @3 67?
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13, If (@) fx)=x*+7x+12,

find f(A)

[ f(A) Ivm Rfa ] .

when (c@fsan) :
1 2 1 :

A=|0 1 -1 ' 5
3 -1 1 '

OR [/ &34

~ Solve using Cramer’s Rule : | S
(AR R TG B | |
3x+y+2z=3
2x-3Yy-z=-3 -
x+2y+z=14

14. If (IM)
A={1,234}
B={2,4,6,8}
C=1{3,4,5,6}
prove that (29 =1 () _ 4
AU(Bnc) (AUB)D(AUc) : 2 B : 5
- OR/ 93 - -

In a class of 50 students, 24 students have taken Adv. Maths, 16
_have taken Adv. Maths but not Geography. Find the no. of students

who have taken both Adv. Maths and Geography. , S
Bt (TR 50 T TI-TER TT 24 TH THARS (o0% W% 16 T T
etz 5% wrelie @Wﬂﬁ:%ﬁﬁﬂﬁ“mﬁwmﬁﬁm%@@-ﬁﬂm
e s

15. (@) The A.M. and H.M. of two numbers are 10 and 6-4 respectwely

'Find the numbers and their G.M. : 4
Bt SR TG T A TGS TG FH 10 9 64|ﬂ«!}1fb‘ﬁﬂﬂz—
et ardres Wy Thea| .
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(b) Find the median of the followmg data : 4
wore Al AR S el w4

Class : ..101-200 201-300 301-400 401-500 501-600 601-700
Ll B .
Frequency : 8 - 10 -~ 15 6 3 2
BISLGIIO
16. Calculate standard deviation and coefficient of variation from the
following data : 4+4=8
weTe Al B SIS WS [Koew o [69e wes Refa a0 ¢
Class (CE@) : 0-6 6-12 12-18 18-24 24-30 30-36

Frequency FRIE®) : 12 24 38 52 ° 34 19

17. (a) A bag contains 10 white, 6 red, 4 black and 7 blue balls. 5
4 balls are drawn randomly. What is the probability that 2 of
them are red and 1 is black ? 4

GB1 @51® 10 Bt 951, 6 B 9, 4 B T W 7 Bl ot 9T e | O
5 Bl 3= Aol @W@:’mz%{a@mlﬁas’aaﬁ RIS IS

- e

(b) What is the probability that a leap year selected at random
will contain 53 Sundays ? 4
ﬂﬁw TR <1 W 53 B (G caﬁﬁﬂ@rﬁﬂ\o W?

OR/ w3
State the mathematical definition of probablhty What are 1ts
limitations ? | : 4
iR afafes ﬂi@‘t%m&ﬂﬁ@qﬁw%%?
18. (a) What are the different types of correlation ? - .5
T2-oTEd [fen e & $e

(b) Calculate Karl Pearson’s correlation coeff101ent from the

following data : 6

woTe fral S #{] P ﬁc«sz-w TAEATT Qe ﬁ“fﬂ = 3

i 2 B . & 100 14 16 20
g 1 3 4 S 7’ 8 10
y _
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